Filomat 35:3 (2021), 883–893 https://doi.org/10.2298/FIL2103883J



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

On Extended Commuting Operators

Sungeun Jung^a, Hyoungji Kim^b, Eungil Ko^c

^aDepartment of Mathematics, Hankuk University of Foreign Studies ^bDepartment of Mathematics, Iowa State University ^cDepartment of Mathematics, Ewha Womans University

Abstract. In this paper, we study properties of extended commuting operators. In particular, we provide the polar decomposition of the product of (λ, μ) -commuting operators where λ and μ are real numbers with $\lambda \mu > 0$. Furthermore, we find the restriction of μ for the product of (λ, μ) -commuting quasihyponormal operators to be quasihyponormal. We also give spectral and local spectral relations between λ -commuting operators. Moreover, we show that the operators λ -commuting with a unilateral shift are representable as weighted composition operators.

1. Introduction

Let \mathcal{H} be a separable complex Hilbert space and let $\mathcal{L}(\mathcal{H})$ denote the algebra of all bounded linear operators on \mathcal{H} . For $T \in \mathcal{L}(\mathcal{H})$, we write $\sigma(T)$, $\sigma_p(T)$, $\sigma_{ap}(T)$, $\sigma_{le}(T)$, and r(T) for the spectrum, the point spectrum, the approximate point spectrum, the left essential spectrum, and the spectral radius of T, respectively.

For operators $S, T \in \mathcal{L}(\mathcal{H})$ and a complex number λ , we say that S is λ -commuting with T if $ST = \lambda TS$. Different classes of operators can be specified depending on the restriction on λ (see [16]). The λ -commuting relation of operators on Hilbert spaces is often useful in quantum mechanics as a tool for the analysis of their spectra. For example, there is an anti-commuting relation (i.e., $\lambda = -1$) between Pauli spin matrices which are complex matrices arising in the study of spin in quantum mechanics ([3]). It has been studied further on the λ -commuting property in the context of quantum groups (see [3] and [11]).

In [4], S. Brown showed that operators λ -commuting with nonzero compact operators have nontrivial hyperinvariant subspaces, as one of the generalizations of the famous Lomonosov's theorem about the invariant subspace problem for operators commuting with compact operators (see [14]). Since then, many mathematicians have been interested in λ -commuting operators.

For $\lambda, \mu \in \mathbb{C}$, two operators $S, T \in \mathcal{L}(\mathcal{H})$ are said to be (λ, μ) -commuting if S is λ -commuting and S^* is μ -commuting with T, namely $ST = \lambda TS$ and $S^*T = \mu TS^*$. If $S, T \in \mathcal{L}(\mathcal{H})$ are (λ, μ) -commuting, then S^*S is $\lambda\mu$ -commuting with T. In particular, if S is an isometry, then $\lambda\mu = 1$.

²⁰¹⁰ Mathematics Subject Classification. Primary 47A10, 47A11, 47B20

Keywords. λ -commuting operators, (λ , μ)-commuting operators, polar decomposition, quasihyponormal operators

Received: 09 March 2020; Accepted: 03 April 2021

Communicated by Dragan S. Djordjević

This work was supported by the National Research Foundation of Korea(NRF) grant funded by the Korea government(MSIT) (2019R1F1A1058633) and the Ministry of Education (2019R1A6A1A11051177). The first author was supported by Hankuk University of Foreign Studies Research Fund and was supported by the National Research Foundation of Korea(NRF) grant funded by the Korea government(MSIT) (2017R1C1B1008965).

Email addresses: sungeun@hufs.ac.kr (Sungeun Jung), hyoungji@iastate.edu (Hyoungji Kim), eiko@ewha.ac.kr (Eungil Ko)

By Fuglede-Putnam Theorem, if $A, B \in \mathcal{L}(\mathcal{H})$ are normal and AX = XB for some $X \in \mathcal{L}(\mathcal{H})$, then $A^*X = XB^*$ (see [8]). Hence, if *S* is normal and λ -commuting with *T*, then *S* and *T* are $(\lambda, \overline{\lambda})$ -commuting. This observation gives several examples of (λ, μ) -commuting operators. For a simple example, given any fixed complex constant λ with $|\lambda| \leq 1$, suppose *D* is a diagonal operator given by $De_n = \lambda^n e_n$ for $n \geq 0$, where $\{e_n\}_{n=0}^{\infty}$ is an orthonormal basis for \mathcal{H} . Then, every weighted shift *W* on \mathcal{H} determined by $We_n = \alpha_n e_{n+1}$ for $n \geq 0$ satisfies $DW = \lambda WD$. Since *D* is normal, the operators *D* and *W* are $(\lambda, \overline{\lambda})$ -commuting by Fuglede-Putnam Theorem; we also observe that *W* and *D* are (λ^{-1}, λ) -commuting. For another example, the 2×2 matrices $S = \begin{pmatrix} 0 & 0 \\ 2 & 0 \end{pmatrix}$ and $T = \begin{pmatrix} 1 & 0 \\ 0 & 3 \end{pmatrix}$ are $(\frac{1}{3}, 3)$ -commuting.

In this paper, we study properties of extended commuting operators. In particular, we provide the polar decomposition of the product of (λ, μ) -commuting operators where λ and μ are real numbers with $\lambda \mu > 0$. Furthermore, we find the restriction of μ for the product of (λ, μ) -commuting quasihyponormal operators to be quasihyponormal. We also give spectral and local spectral relations between λ -commuting operators. Moreover, we show that the operators λ -commuting with a unilateral shift are representable as weighted composition operators.

2. Preliminaries

An operator $T \in \mathcal{L}(\mathcal{H})$ is said to have *the single-valued extension property* (or SVEP) if for every open set G in \mathbb{C} and every analytic function $f : G \to \mathcal{H}$ with $(T - z)f(z) \equiv 0$ on G, we have $f(z) \equiv 0$ on G. For an operator $T \in \mathcal{L}(\mathcal{H})$ and a vector $x \in \mathcal{H}$, the set $\rho_T(x)$, called the *local resolvent* of T at x, consists of elements z_0 in \mathbb{C} such that there exists an \mathcal{H} -valued analytic function f(z) defined in a neighborhood of z_0 which verifies $(T - z)f(z) \equiv x$. The *local spectrum* of T at x is given by $\sigma_T(x) := \mathbb{C} \setminus \rho_T(x)$. Moreover, we define the *local spectral subspace* of T as $H_T(F) := \{x \in \mathcal{H} : \sigma_T(x) \subset F\}$, where F is a subset of \mathbb{C} . An operator $T \in \mathcal{L}(\mathcal{H})$ is said to have *Dunford's property* (\mathcal{C}) if $H_T(F)$ is closed for each closed subset F of \mathbb{C} . We say that $T \in \mathcal{L}(\mathcal{H})$ is said to have *Bishop's property* (β) if for every open subset G of \mathbb{C} and every sequence $f_n : G \to \mathcal{H}$ of \mathcal{H} -valued analytic functions such that $(T - z)f_n(z)$ converges uniformly to 0 in norm on compact subsets of G, then $f_n(z)$ converges uniformly to 0 in norm on compact subsets of G. The following implications are well known (see [2], [6], or [13] for more details):

Bishop's property (β) \Rightarrow Dunford's property (C) \Rightarrow SVEP.

3. Main results

In this section, we first consider (λ, μ) -commuting operators. As remarked at section one, Fugled-Putnam theorem gives examples of $(\lambda, \overline{\lambda})$ -commuting operators. We remark that if $S, T \in \mathcal{L}(\mathcal{H})$ are $(\lambda, \overline{\lambda})$ -commuting for some $\lambda \in \mathbb{C}$ and $T \neq 0$ does not have dense range, then ran(T) is a common nontrivial invariant subspace for S and S^* , since $S(Tx) = \lambda TSx \in \operatorname{ran}(T)$ and $S^*(Tx) = \overline{\lambda}TS^*x \in \operatorname{ran}(T)$ for all $x \in \mathcal{H}$.

In order to provide the polar decomposition of the product of (λ, μ) -commuting operators, we show that their partial isometric parts and positive parts satisfy the following extended commuting relationships.

Lemma 3.1. Let $S, T \in \mathcal{L}(\mathcal{H})$ be (λ, μ) -commuting where λ and μ are real numbers with $\lambda \mu > 0$. If $S = U_S|S|$ and $T = U_T|T|$ denote the polar decompositions, then the following statements hold:

(*i*) $|T|S = (\lambda^{-1}\mu)^{\frac{1}{2}}S|T|$ and $|S|T = (\lambda\mu)^{\frac{1}{2}}T|S|$;

(*ii*) $|S|U_T = (\lambda \mu)^{\frac{1}{2}} U_T |S|$ and $|T|U_S = (\lambda^{-1} \mu)^{\frac{1}{2}} U_S |T|$;

(*iii*) |S||T| = |T||S|, $|S^*||T| = |T||S^*|$, and $|S||T^*| = |T^*|S|$;

(iv) $U_S U_T = U_T U_S$ and $U_S^* U_T = U_T U_S^*$ if λ and μ are positive, and $U_S U_T = -U_T U_S$ and $U_S^* U_T = -U_T U_S^*$ if λ and μ are negative.

Proof. (i) Set $\delta = \lambda^{-1}\mu > 0$. It is easy to see that $p(|T|^2)S = Sp(\delta|T|^2)$ for any polynomial p. Since there exists a sequence $\{p_n\}$ of polynomials convergent uniformly to $f(s) = s^{\frac{1}{2}}$ on the compact interval $[0, (1 + \delta)||T||^2]$ from Stone-Weierstrass theorem, it follows that $|T|S = \delta^{\frac{1}{2}}S|T| = (\lambda^{-1}\mu)^{\frac{1}{2}}S|T|$.

Similarly, we infer that $|S|T = (\lambda \mu)^{\frac{1}{2}}T|S|$, since *T* and *S* are (λ^{-1}, μ) -commuting.

(ii) Since $ST = \lambda TS$ and $|T|S = (\lambda^{-1}\mu)^{\frac{1}{2}}S|T|$ by (i), we obtain that

$$SU_T|T| = \lambda U_T|T|S = \lambda (\lambda^{-1}\mu)^{\frac{1}{2}} U_T S|T| = \tau (\lambda \mu)^{\frac{1}{2}} U_T S|T|$$

where $\tau = 1$ if $\lambda, \mu > 0$, and $\tau = -1$ if $\lambda, \mu < 0$. If $x \in \text{ker}(|T|)$, then $|T|Sx = (\lambda^{-1}\mu)^{\frac{1}{2}}S|T|x = 0$. Since $\text{ker}(|T|) = \text{ker}(U_T)$, we have $U_TSx = 0 = SU_Tx$. Hence, it holds that

$$SU_T = \tau(\lambda \mu)^{\frac{1}{2}} U_T S \text{ on } \mathcal{H} = \operatorname{ran}(|T|) \oplus \ker(|T|).$$
(1)

In a similar manner, use the identities $S^*T = \mu TS^*$ and $S^*|T| = (\lambda^{-1}\mu)^{\frac{1}{2}}|T|S^*$ obtained from (i) to verify that

$$S^*U_T|T| = \mu U_T|T|S^* = \mu(\lambda \mu^{-1})^{\frac{1}{2}} U_T S^*|T| = \tau(\lambda \mu)^{\frac{1}{2}} U_T S^*|T|$$

and $U_T S^* x = S^* U_T x = 0$ for all $x \in \text{ker}(|T|)$, which yields that

$$S^* U_T = \tau (\lambda \mu)^{\frac{1}{2}} U_T S^*.$$
⁽²⁾

Combining (2) with (1), one can deduce that $(S^*S)U_T = \lambda \mu U_T(SS^*)$. As in the proof of (i), we can show that $|S|U_T = (\lambda \mu)^{\frac{1}{2}} U_T|S|$. Since *T* and *S* are (λ^{-1}, μ) -commuting, we see that $|T|U_S = (\lambda^{-1}\mu)^{\frac{1}{2}} U_S|T|$.

(iii) Since $|T||S|^2 = (|T|S^*)S = (\lambda^{-1}\mu)^{-\frac{1}{2}}S^*(|T|S) = |S|^2|T|$ from (i), the positive parts |S| and |T| commute. Moreover, observe that S^* and T are (μ, λ) -commuting, while S and T^* are (μ^{-1}, λ^{-1}) -commuting. Hence, we also see that $|S^*||T| = |T||S^*|$ and $|S||T^*| = |T^*||S|$.

(iv) Applying (ii) and (iii), we obtain that

$$ST = U_S(|S|U_T)|T| = (\lambda \mu)^{\frac{1}{2}} U_S U_T |S||T|$$

and

$$\lambda TS = \lambda U_T(|T|U_S)|S| = \lambda U_T((\lambda^{-1}\mu)^{\frac{1}{2}}U_S|T|)|S| = \tau(\lambda\mu)^{\frac{1}{2}}U_TU_S|S||T|$$

where $\tau = 1$ if $\lambda, \mu > 0$, and $\tau = -1$ if $\lambda, \mu < 0$. Since $ST = \lambda TS$, we have $U_S U_T = \tau U_T U_S$ on $\overline{ran(|S||T|)}$. In addition, if $x \in \ker(|S||T|) = \ker(|T||S|)$, then $U_S|T|x = U_T|S|x = 0$, and so $|T|U_S x = |S|U_T x = 0$ from (ii). Therefore, both $U_S U_T$ and $U_T U_S$ are identically zero on $\ker(|S||T|)$, concluding that $U_S U_T = \tau U_T U_S$ on $\mathcal{H} = \overline{ran(|S||T|)} \oplus \operatorname{ran}(|S||T|)^{\perp}$. Since S^* and T are (μ, λ) -commuting and the adjoint S^* has the polar decomposition $S^* = U_S^*|S^*|$, we derive the equality for U_S^* and U_T , as well. \Box

Theorem 3.2. Assume that $S, T \in \mathcal{L}(\mathcal{H})$ are (λ, μ) -commuting where λ and μ are real numbers with $\lambda \mu > 0$. If $ST = U_{ST}|ST|$ is the polar decomposition, then

$$U_{ST} = U_S U_T$$
 and $|ST| = (\lambda \mu)^{\frac{1}{2}} |S||T|$.

In addition, if $TS = U_{TS}|TS|$ is the polar decomposition, then

$$U_{TS} = U_T U_S \text{ and } |TS| = (\lambda^{-1} \mu)^{\frac{1}{2}} |S||T|.$$

Proof. Since *T* and *S* are (λ^{-1}, μ) -commuting and |S||T| = |T||S| by Lemma 3.1, it suffices to consider the product *ST*. We note from (3) that the product *ST* is factorized as follows:

 $ST = (U_S U_T) \big((\lambda \mu)^{\frac{1}{2}} |S||T| \big).$

Since |S||T| = |T||S|, we obtain that

$$(|S||T|)^2 = S^*(ST^*)T = \mu^{-1}(S^*T^*)ST = (\lambda\mu)^{-1}T^*S^*ST = (\lambda\mu)^{-1}|ST|^2.$$

This ensures that

$$|ST| = (\lambda \mu)^{\frac{1}{2}} |S||T|.$$
(4)

If $x \in \ker(ST) = \ker(|ST|)$, then |S||T|x = 0 from (4). Since $|T|U_S x = (\lambda^{-1}\mu)^{\frac{1}{2}}U_S|T|x = 0$ by Lemma 3.1, we have $U_S x \in \ker(|T|) = \ker(U_T)$, namely $x \in \ker(U_T U_S)$. Conversely, if $x \in \ker(U_T U_S)$, then $|T|U_S x = 0$ and so $U_S|T|x = 0$, which implies with (4) that $x \in \ker(|S||T|) = \ker(ST)$. Since $\ker(U_S U_T) = \ker(U_T U_S)$ by Lemma 3.1, it holds that

$$\ker(U_S U_T) = \ker(U_T U_S) = \ker(ST) = \ker(|ST|).$$

Now, it remains to show $U_S U_T$ is partial isometric on ker $(U_S U_T)^{\perp} = \overline{\operatorname{ran}(|ST|)}$. Equations (1), (2), and (4) give that

$$\begin{aligned} (U_{S}U_{T})^{*}(U_{S}U_{T})|ST| &= (U_{T}U_{S})^{*}(U_{T}U_{S})|ST| = U_{S}^{*}U_{T}^{*}U_{T}U_{S}((\lambda\mu)^{\frac{1}{2}}|S||T|) \\ &= U_{S}^{*}U_{T}^{*}((\lambda\mu)^{\frac{1}{2}}U_{T}S)|T| = U_{S}^{*}(\tau U_{T}^{*}S)U_{T}|T| \\ &= U_{S}^{*}((\lambda\mu)^{\frac{1}{2}}SU_{T}^{*})U_{T}|T| = (\lambda\mu)^{\frac{1}{2}}(U_{S}^{*}U_{S}|S|)(U_{T}^{*}U_{T}|T|) \\ &= (\lambda\mu)^{\frac{1}{2}}|S||T| = |ST|, \end{aligned}$$

completing the proof. \Box

For an operator $T \in \mathcal{L}(\mathcal{H})$ with polar decomposition T = U|T|, we define the *Aluthge transform* of *T*, denoted by \widetilde{T} , as

$$\widetilde{T} = |T|^{\frac{1}{2}} U|T|^{\frac{1}{2}}.$$

Recall that an operator $T \in \mathcal{L}(\mathcal{H})$ is called *p*-hyponormal if $(T^*T)^p \geq (TT^*)^p$, where $0 . It is well known that if <math>0 < q < p < \infty$, then *p*-hyponormal operators are *q*-hyponormal. In addition, $T \in \mathcal{L}(\mathcal{H})$ is *p*-hyponormal for some $0 , then <math>\tilde{T}$ is $(p + \frac{1}{2})$ -hyponormal (see [7]). Hence, \tilde{T} is always hyponormal. In [10], the authors gave several connections between operators and their Aluthge transforms.

Corollary 3.3. If $S, T \in \mathcal{L}(\mathcal{H})$ are (λ, μ) -commuting operators where λ and μ are real numbers with $\lambda \mu > 0$, then the following statements hold:

(i) \widetilde{S} and \widetilde{T} are (λ, μ) -commuting and $\widetilde{ST} = |\mu|^{\frac{1}{2}}\widetilde{ST} = \lambda |\mu|^{\frac{1}{2}}\widetilde{TS}$.

(*ii*) \widetilde{S} and T are (λ, μ) -commuting.

(*iii*) *S* and \widetilde{T} are (λ, μ) -commuting.

Proof. Let $S = U_S|S|$ and $T = U_T|T|$ be the polar decompositions of *S* and *T*.

(i) Lemma 3.1 implies that $|S|^{\frac{1}{2}}U_T = (\lambda\mu)^{\frac{1}{4}}U_T|S|^{\frac{1}{2}}$, $|T|^{\frac{1}{2}}U_S = (\lambda^{-1}\mu)^{\frac{1}{4}}U_S|T|^{\frac{1}{2}}$, and $(|S||T|)^{\frac{1}{2}} = |S|^{\frac{1}{2}}|T|^{\frac{1}{2}} = |T|^{\frac{1}{2}}|S|^{\frac{1}{2}}$. Thus, we obtain from Theorem 3.2 that

$$\begin{split} \widetilde{ST} &= (\lambda \mu)^{\frac{1}{2}} |S|^{\frac{1}{2}} (|T|^{\frac{1}{2}} U_S) (U_T |S|^{\frac{1}{2}}) |T|^{\frac{1}{2}} = |\mu|^{\frac{1}{2}} |S|^{\frac{1}{2}} U_S |T|^{\frac{1}{2}} |S|^{\frac{1}{2}} U_T |T|^{\frac{1}{2}} \\ &= |\mu|^{\frac{1}{2}} (|S|^{\frac{1}{2}} U_S |S|^{\frac{1}{2}}) (|T|^{\frac{1}{2}} U_T |T|^{\frac{1}{2}}) = |\mu|^{\frac{1}{2}} \widetilde{ST}. \end{split}$$

Since $U_S U_T = \tau U_T U_S$ where $\tau = 1$ if $\lambda, \mu > 0$, and $\tau = -1$ if $\lambda, \mu < 0$, we get that

$$\begin{split} \widetilde{ST} &= \tau(\lambda\mu)^{\frac{1}{2}}|T|^{\frac{1}{2}}(|S|^{\frac{1}{2}}U_T)(U_S|T|^{\frac{1}{2}})|S|^{\frac{1}{2}} = \lambda|\mu|^{\frac{1}{2}}|T|^{\frac{1}{2}}U_T|S|^{\frac{1}{2}}|T|^{\frac{1}{2}}U_S|S|^{\frac{1}{2}} \\ &= \lambda|\mu|^{\frac{1}{2}}(|T|^{\frac{1}{2}}U_T|T|^{\frac{1}{2}})(|S|^{\frac{1}{2}}U_S|S|^{\frac{1}{2}}) = \lambda|\mu|^{\frac{1}{2}}\widetilde{TS}. \end{split}$$

Hence, we see that $\widetilde{ST} = \lambda \widetilde{TS}$. Furthermore, since $U_S^* U_T = \tau U_T U_S^*$ by Lemma 3.1, it holds that

$$\begin{split} (\widetilde{S})^*\widetilde{T} &= (|S|^{\frac{1}{2}}U_S^*|S|^{\frac{1}{2}})(|T|^{\frac{1}{2}}U_T|T|^{\frac{1}{2}}) = |S|^{\frac{1}{2}}(U_S^*|T|^{\frac{1}{2}})(|S|^{\frac{1}{2}}U_T)|T|^{\frac{1}{2}} \\ &= |\mu|^{\frac{1}{2}}|S|^{\frac{1}{2}}|T|^{\frac{1}{2}}U_S^*U_T|S|^{\frac{1}{2}}|T|^{\frac{1}{2}} = \tau|\mu|^{\frac{1}{2}}|T|^{\frac{1}{2}}(|S|^{\frac{1}{2}}U_T)(U_S^*|T|^{\frac{1}{2}})|S|^{\frac{1}{2}} \\ &= \mu|T|^{\frac{1}{2}}U_T|S|^{\frac{1}{2}}|T|^{\frac{1}{2}}U_S^*|S|^{\frac{1}{2}} = \mu\widetilde{T}(\widetilde{S})^*. \end{split}$$

(ii) Using Lemma 3.1, we see that

$$\begin{split} \widetilde{S}T &= |S|^{\frac{1}{2}} U_{S}(|S|^{\frac{1}{2}}T) = (\lambda \mu)^{\frac{1}{4}} |S|^{\frac{1}{2}} U_{S}T|S|^{\frac{1}{2}} \\ &= (\lambda \mu)^{\frac{1}{4}} |S|^{\frac{1}{2}} (U_{S}U_{T})|T||S|^{\frac{1}{2}} = \tau (\lambda \mu)^{\frac{1}{4}} (|S|^{\frac{1}{2}}U_{T}) (U_{S}|T|)|S|^{\frac{1}{2}} \\ &= \tau (\lambda \mu)^{\frac{1}{2}} (\lambda^{-1} \mu)^{-\frac{1}{2}} U_{T} (|S|^{\frac{1}{2}}|T|) U_{S}|S|^{\frac{1}{2}} = \lambda T \widetilde{S} \end{split}$$

where $\tau = 1$ if $\lambda, \mu > 0$, and $\tau = -1$ if $\lambda, \mu < 0$. This means that \widetilde{S} and T are λ -commuting. Similarly, one can derive that $(\widetilde{S})^*$ and T are μ -commuting.

(iii) Since *T* and *S* are (λ^{-1}, μ) -commuting, we obtain from (ii) that \tilde{T} and *S* are (λ^{-1}, μ) -commuting, or equivalently, *S* and \tilde{T} are (λ, μ) -commuting. \Box

Remark 3.4. Let $S, T \in \mathcal{L}(\mathcal{H})$ be λ -commuting for some nonzero real number λ . If \widetilde{S} is hyponormal and T is normal, then \widetilde{S} and $\widetilde{T} = T$ are (λ, λ^{-1}) -commuting by Theorem 3.3 and Fuglede-Putnam Theorem. Since $\sigma(\widetilde{ST}) = \sigma(ST)$ due to [10], we obtain from [18] that \widetilde{ST} is hyponormal if and only if $\sigma(ST) \neq \{0\}$, which holds exactly when $\lambda = \pm 1$.

Recall that an operator $T \in \mathcal{L}(\mathcal{H})$ is said to be *quasinormal* if T^*T commutes with T.

Corollary 3.5. Let $S, T \in \mathcal{L}(\mathcal{H})$ be (λ, μ) -commuting quasinormal operators such that $ST \neq 0$, where λ and μ are real numbers with $\lambda \mu > 0$. Then ST is quasinormal if and only if $\mu = \pm 1$. In particular, if one of S and T is normal and the product ST is quasinormal, then $\lambda = \mu = \pm 1$.

Proof. Assume $S = U_S|S|$, $T = U_T|T|$, and $ST = U_{ST}|ST|$ are the polar decompositions. We will use the equalities $U_{ST} = U_S U_T = \pm U_T U_S$, $|ST| = (\lambda \mu)^{\frac{1}{2}} |S||T|$, $|S|U_T = (\lambda \mu)^{\frac{1}{2}} U_T|S|$, and $|T|U_S = (\lambda^{-1}\mu)^{\frac{1}{2}} U_S|T|$ obtained from Lemma 3.1 and Theorem 3.2. Since $U_S|S| = |S|U_S$ and $U_T|T| = |T|U_T$ due to the quasinormality of *S* and *T*, it follows that

$$U_{ST}|ST| = ST = U_S|S|U_T|T| = |S|(U_S|T|)U_T$$

= $(\lambda^{-1}\mu)^{-\frac{1}{2}}|S||T|U_SU_T = (\lambda^{-1}\mu)^{-\frac{1}{2}}(\lambda\mu)^{-\frac{1}{2}}|ST|U_{ST} = |\mu|^{-1}|ST|U_{ST}$

Hence, *ST* is quasinormal if and only if $\mu = \pm 1$.

If *S* or *T* is normal and *ST* is quasinormal, then $S^*T = \mu TS^* = \pm TS^*$. Fuglede-Putnam theorem implies that $ST = \pm TS$, and thus $\lambda = \mu = \pm 1$. \Box

An operator $T \in \mathcal{L}(\mathcal{H})$ is called *quasihyponormal* if $T^*(T^*T - TT^*)T \ge 0$, or $||T^2x|| \ge ||T^*Tx||$ for all $x \in \mathcal{H}$. In the following theorem, we show that if $|\mu| \le 1$, then the product of two (λ, μ) -commuting quasihyponormal operators is again quasihyponormal.

Theorem 3.6. Let *S* and *T* be quasihyponormal operators in $\mathcal{L}(\mathcal{H})$ that are (λ, μ) -commuting. If $|\mu| \ge 1$, then *ST* is quasihyponormal. Furthermore, if $\lambda \ne 0$ and $|\mu| \ge 1$, then *TS* is quasihyponormal.

Proof. Suppose that $ST = \lambda TS$ and $S^*T = \mu TS^*$. Since *S* and *T* are quasihyponormal, we obtain that

 $\begin{aligned} ||(ST)^{2}x|| &= ||\lambda^{2}T(ST)Sx|| = |\lambda|^{3}||T^{2}S^{2}x|| \\ &\geq |\lambda|^{3}||T^{*}TS^{2}x|| = |\lambda|^{2}||T^{*}(\lambda TS)Sx|| \\ &= |\lambda|^{2}||(T^{*}S)TSx|| = |\lambda| ||\overline{\mu}ST^{*}(\lambda TS)x|| \end{aligned}$

$$= |\lambda||\mu| ||S(T^*S)Tx|| = |\lambda||\mu|^2 ||S^2T^*Tx||$$

- $\geq |\lambda||\mu| ||S^*(\overline{\mu}ST^*)Tx|| = |\mu| ||(\overline{\lambda}S^*T^*)STx||$
- $= |\mu| ||T^*S^*STx|| = |\mu| ||(ST)^*(ST)x||$

for all $x \in \mathcal{H}$. Thus, if $|\mu| \ge 1$, then *ST* is quasihyponormal.

If $\lambda \neq 0$, then *T* and *S* are $(\lambda^{-1}, \overline{\mu})$ -commuting. As in the above argument, one can deduce that if $|\mu| \ge 1$, then *TS* is quasihyponormal. \Box

An operator *T* in $\mathcal{L}(\mathcal{H})$ is said to be *nilpotent* if $T^n = 0$ for some positive integer *n*; in this case, the smallest positive integer *n* with $T^n = 0$ is referred to as the order of *T*. We say that $T \in \mathcal{L}(\mathcal{H})$ is *quasinilpotent* if $\sigma(T) = \{0\}$.

Corollary 3.7. Let *S* and *T* be quasihyponormal operators in $\mathcal{L}(\mathcal{H})$ that are (λ, μ) -commuting and $ST \neq 0$. If $|\lambda| \neq 1$ and $|\mu| \geq 1$, then *ST* is nilpotent of order 2 and one of *S* and *T* has a nontrivial invariant subspace.

Proof. Let $|\lambda| \neq 1$ and $|\mu| \ge 1$. The product *ST* is quasihyponormal by Theorem 3.6. Applying [12], we write $ST = \begin{pmatrix} A & B \\ 0 & 0 \end{pmatrix}$ on $\mathcal{H} = \mathcal{M} \oplus \mathcal{M}^{\perp}$, where *A* is hyponormal and $\mathcal{M} = \overline{\operatorname{ran}(ST)}$. It is easy to see that if $\alpha \neq 0$ and $ST - \alpha$ is invertible, then so is $A - \alpha$. Indeed, if $X = \begin{pmatrix} X_1 & X_2 \\ X_3 & X_4 \end{pmatrix}$ is the inverse of $ST - \alpha$, then we have $X_1(A - \alpha) = I_{\mathcal{M}}, (A - \alpha)X_1 + BX_3 = I_{\mathcal{M}}, \text{ and } \alpha X_3 = 0$ where $I_{\mathcal{M}}$ denotes the identity operator on \mathcal{M} . Since α is nonzero, $X_3 = 0$ so that $A - \alpha$ is invertible. Hence $\sigma(A) \setminus \{0\} \subset \sigma(ST) \setminus \{0\}$. Since *ST* is quasinilpotent from the proof of Theorem 3.9, it follows that $\sigma(A) \setminus \{0\} = \emptyset$, i.e., $\sigma(A) = \{0\}$. Since *A* is hyponormal, it should be the zero operator. Thus $ST = \begin{pmatrix} 0 & B \\ 0 & 0 \end{pmatrix}$ is nilpotent of order 2. Applying [5, Theorem 5], we get that $\overline{\operatorname{ran}(S)} \neq \mathcal{H}$ or $\ker(T) \neq \{0\}$. Accordingly, *S* or *T* has a nontrivial invariant subspace. \Box

Corollary 3.8. Let $S \in \mathcal{L}(\mathcal{H})$ be normal and $T \in \mathcal{L}(\mathcal{H})$ be quasihyponormal with $ST \neq 0$. If $ST = \lambda TS$ for some $|\lambda| \ge 1$, then both ST and TS are quasihyponormal; in particular, if $|\lambda| > 1$, then ST and TS are nilpotent of order 2.

Proof. Since $S^*T = \overline{\lambda}TS^*$ by Fuglede-Putnam Theorem, the operators *S* and *T* are $(\lambda, \overline{\lambda})$ -commuting. Moreover, *T* and *S* are (λ^{-1}, λ) -commuting. Therefore, the products *ST* and *TS* are quasihyponormal due to Theorem 3.6. If $|\lambda| > 1$, then we obtain from Corollary 3.7 that *ST* and *TS* are nilpotent of order 2.

We next give several properties of λ -commuting operators. We first consider the product of λ -commuting operators.

Theorem 3.9. Let *S* and *T* be operators in $\mathcal{L}(\mathcal{H})$ such that $ST = \lambda TS$ for some $\lambda \in \mathbb{C}$. Then the following statements hold:

(*i*) $r(ST) \le r(S)r(T)$ and $r(TS) \le r(S)r(T)$.

(ii) Suppose that $\lambda \neq 0$ and $dist(\frac{z}{\lambda}, \sigma(T)) > 0$ for $z \in \rho(T)$. If f is analytic in a neighborhood of $\sigma(T)$, then $Sf(T) = f(\lambda T)S$.

Proof. (i) Assume that $ST = \lambda TS$ for some $\lambda \in \mathbb{C}$. If $\lambda = 0$, then ST = 0 and hence $\sigma(ST) = \{0\}$. Since $\sigma(ST) \setminus \{0\} = \sigma(TS) \setminus \{0\}$, both *ST* and *TS* are quasinilpotent. Thus $r(ST) = r(TS) = 0 \le r(S)r(T)$.

If $\lambda \neq 0$ and $|\lambda| \neq 1$, then $\lambda \sigma(TS) \cup \{0\} = \sigma(ST) \cup \{0\} = \sigma(TS) \cup \{0\}$ where $\lambda \sigma(TS) := \{\lambda \alpha : \alpha \in \sigma(TS)\}$. Since $|\lambda| \neq 1$, we have $\sigma(TS) = \{0\}$. Then *ST* and *TS* are quasinilpotent, and so we obtain the given inequalities, obviously.

Assume that $|\lambda| = 1$. We will show that

$$(ST)^n = \lambda^{\frac{n(n+1)}{2}} T^n S^n$$

888

(5)

for any positive integer *n*, using induction on *n*. Since $ST = \lambda TS$, equation (5) is true for n = 1. If (5) holds for n = k, then

$$(ST)^{k+1} = (ST)(ST)^k = \lambda^{\frac{k(k+1)}{2}}(ST^{k+1})S^k = \lambda^{\frac{k(k+1)}{2}}(\lambda^{k+1}T^{k+1}S)S^k = \lambda^{\frac{(k+1)(k+2)}{2}}T^{k+1}S^{k+1}.$$

Hence (5) holds for all positive integers *n*. Since $|\lambda| = 1$, it follows from (5) that

$$r(ST) = \lim_{n \to \infty} \|(ST)^n\|^{\frac{1}{n}} \le \lim_{n \to \infty} \|S^n\|^{\frac{1}{n}} \lim_{n \to \infty} \|T^n\|^{\frac{1}{n}} = r(S)r(T).$$

Since $TS = \frac{1}{\lambda}ST = \overline{\lambda}ST$, we also obtain $r(TS) \le r(S)r(T)$.

(ii) Since $ST = \lambda TS$, we get that $S(z - T) = zS - ST = zS - \lambda TS = (z - \lambda T)S$ for $z \in \mathbb{C}$. Since $dist(\frac{z}{\lambda}, \sigma(T)) > 0$ for any $z \in \rho(T)$, the inclusion $\lambda \sigma(T) \subset \sigma(T)$ holds, and so $(z - \lambda T)^{-1}S = S(z - T)^{-1}$ for any $z \in \rho(T)$. Let Γ be a closed curve surrounding $\sigma(T)$. Then

$$Sf(T) = S\Big[\frac{1}{2\pi i} \int_{\Gamma} f(z)(z-T)^{-1} dz\Big] = \frac{1}{2\pi i} \int_{\Gamma} f(z)(z-\lambda T)^{-1} S dz$$
$$= \Big[\frac{1}{2\pi i} \int_{\Gamma} f(z)(z-\lambda T)^{-1} dz\Big]S = f(\lambda T)S,$$

which completes the proof. \Box

Recall that an operator T in $\mathcal{L}(\mathcal{H})$ is called *normaloid* if ||T|| = r(T). An operator $T \in \mathcal{L}(\mathcal{H})$ is said to belong to *class* A if $|T^2| \ge |T|^2$. Every operator which belongs to class A is normaloid, and hyponormal operators belong to class A (see [7]).

Corollary 3.10. Let *S* and *T* be operators in $\mathcal{L}(\mathcal{H})$ such that $ST = \lambda TS$ for some $\lambda \in \mathbb{C}$ and *ST* belongs to class *A*. If *S* or *T* is quasinilpotent, then ST = TS = 0.

Proof. The products *ST* and *TS* are quasinilpotent by Theorem 3.9 (i). Since $TS = \frac{1}{\lambda}ST$ as well as *ST* belong to class *A* and every class *A* operator is normaloid, we get that ST = TS = 0.

We next provide spectral properties of λ -commuting operators.

Theorem 3.11. Suppose that $S, T \in \mathcal{L}(\mathcal{H})$ satisfy $ST = \lambda TS$ for some $\lambda \in \mathbb{C}$. For $\sigma_{\Delta} \in \{\sigma_p, \sigma_{ap}, \sigma_{le}\}$, the following assertions hold: (*i*) either $0 \in \sigma_{\Delta}(T)$ or else $\lambda \sigma_{\Delta}(S) \subset \sigma_{\Delta}(S)$; (*ii*) either $0 \in \sigma_{\Delta}(S)$ or else $\sigma_{\Delta}(T) \subset \lambda \sigma_{\Delta}(T)$.

Proof. We only consider the left essential spectrum; the proofs for the others are similar.

(i) Suppose that $0 \notin \sigma_{le}(T)$. If $\alpha \in \lambda \sigma_{le}(S) = \sigma_{le}(\lambda S)$, choose a sequence $\{x_n\}$ of unit vectors in \mathcal{H} such that $x_n \to 0$ weakly and $\lim_{n\to\infty} ||(\lambda S - \alpha)x_n|| = 0$. Then $\lim_{n\to\infty} ||(S - \alpha)Tx_n|| = \lim_{n\to\infty} ||T(\lambda S - \alpha)x_n|| = 0$. Note that $\lim_{n\to\infty} ||Tx_n|| \neq 0$ since $0 \notin \sigma_{le}(T)$. This implies that $\alpha \in \sigma_{le}(S)$. Thus $\lambda \sigma_{le}(S) \subset \sigma_{le}(S)$. Hence, we conclude that $\lambda \sigma_{le}(S) \subset \sigma_{le}(S)$ or $0 \in \sigma_{le}(T)$.

(ii) Let $0 \notin \sigma_{le}(S)$. If $\alpha \in \sigma_{le}(T)$, then there exists a sequence $\{x_n\}$ of unit vectors in \mathcal{H} such that $x_n \to 0$ weakly and $\lim_{n\to\infty} ||(T-\alpha)x_n|| = 0$. Since $ST = \lambda TS$, we have $\lim_{n\to\infty} ||(\lambda T-\alpha)Sx_n|| = \lim_{n\to\infty} ||S(T-\alpha)x_n|| = 0$. Since $0 \notin \sigma_{le}(S)$, the sequence $\{Sx_n\}$ does not converge to 0 in norm, and so $\alpha \in \sigma_{le}(\lambda T) = \lambda \sigma_{le}(T)$. Therefore $\sigma_{le}(T) \subset \lambda \sigma_{le}(T)$. \Box

Applying the proof of Theorem 3.11, we infer that $T \ker(S-\mu) \subset \ker(S-\lambda\mu)$ and $S \ker(T-\mu) \subset \ker(\lambda T-\mu)$ for each $\mu \in \mathbb{C}$. Hence, $\ker(S)$ and $\ker(T)$ are common invariant subspaces for S and T.

Corollary 3.12. For $\sigma_{\Delta} \in {\sigma_p, \sigma_{ap}, \sigma_{le}}$, the following assertions hold: (*i*) If S and T are (λ, μ) -commuting operators in $\mathcal{L}(\mathcal{H})$ such that $0 \notin \sigma_{\Delta}(S) \cup \sigma_{\Delta}(S^*)$ and $\mu \neq 0$, then

$$\mu^{-1}\sigma_{\Delta}(T) \subset \sigma_{\Delta}(T) \subset \lambda \sigma_{\Delta}(T).$$

(*ii*) If $S \in \mathcal{L}(\mathcal{H})$ is normal and T is any operator in $\mathcal{L}(\mathcal{H})$ such that $ST = \lambda TS$ for some λ with $|\lambda| = 1$ and $0 \notin \sigma_{\Delta}(S)$, then

$$\sigma_{\Delta}(T) = \lambda \sigma_{\Delta}(T).$$

Proof. (i) Since $ST = \lambda TS$ and $S^*T = \mu TS^*$, we know from Theorem 3.11 that $\sigma_{\Delta}(T) \subset \lambda \sigma_{\Delta}(T)$ and $\sigma_{\Delta}(T) \subset \mu \sigma_{\Delta}(T)$, which completes the proof.

(ii) Since *S* is normal, the operators *S* and *T* are $(\lambda, \overline{\lambda})$ -commuting. In addition, since $||Sx|| = ||S^*x||$, we infer that $0 \notin \sigma_{\Delta}(S^*)$ as well as $0 \notin \sigma_{\Delta}(S)$. According to (i), we get that $(\overline{\lambda})^{-1}\sigma_{\Delta}(T) \subset \sigma_{\Delta}(T) \subset \lambda\sigma_{\Delta}(T)$. Since $|\lambda| = 1$, we have $\overline{\lambda}^{-1} = \lambda$, and so it follows that $\sigma_{\Delta}(T) = \lambda\sigma_{\Delta}(T)$. \Box

If λ is a root of unity, then the inclusions in Theorem 3.11 become equalities, as follows:

Corollary 3.13. Let $S, T \in \mathcal{L}(\mathcal{H})$ satisfy that $ST = \lambda TS$ where λ is a root of unity. Then the following statements hold for $\sigma_{\Delta} \in \{\sigma_{p}, \sigma_{ap}, \sigma_{le}\}$: (*i*) If $0 \notin \sigma_{\Delta}(T)$, then $\sigma_{\Delta}(S) = \lambda \sigma_{\Delta}(S)$; (*ii*) $\mathcal{I}(0 \notin \sigma_{\Delta}(S))$ then $\sigma_{\Delta}(S) = \lambda \sigma_{\Delta}(S)$;

(*ii*) If $0 \notin \sigma_{\Delta}(S)$, then $\sigma_{\Delta}(T) = \lambda \sigma_{\Delta}(T)$.

Proof. Assume that $0 \notin \sigma_{\Delta}(T)$. If $\lambda^k = 1$, then it follows from Proposition 3.11 that $\sigma_{\Delta}(S) \supset \lambda \sigma_{\Delta}(S) \supset \lambda^k \sigma_{\Delta}(S) = \sigma_{\Delta}(S)$. Thus $\sigma_{\Delta}(S) = \lambda \sigma_{\Delta}(S)$. Similarly, one can obtain the result (ii). \Box

Recall that $T \in \mathcal{L}(\mathcal{H})$ is said to be an *m*-isometry if $\sum_{j=0}^{m} (-1)^{j} {m \choose j} T^{*j} T^{j} = 0$, where *m* is a positive integer. In [1], it turned out that every *m*-isometry has approximate point spectrum contained in the unit circle.

Corollary 3.14. Suppose that S and T are operators in $\mathcal{L}(\mathcal{H})$ such that $ST = \lambda TS$ for some $\lambda \in \mathbb{C}$. Then the following assertions hold:

(i) If $0 \notin \sigma_{ap}(T)$, then $\sigma_{ap}(S) = \{0\}$ or $|\lambda| \leq 1$.

(*ii*) If $0 \notin \sigma_{ap}(S)$, then $\sigma_{ap}(T) = \{0\}$ or $|\lambda| \ge 1$. Hence, if $0 \notin \sigma_{ap}(S) \cup \sigma_{ap}(T)$, then $|\lambda| = 1$. (*iii*) If $|\lambda| \ne 1$ and S is an m-isometry for some positive integer m, then $0 \in \sigma_p(T)$.

Proof. (i) Let $0 \notin \sigma_{ap}(T)$. If $\sigma_{ap}(S) \neq \{0\}$, select $\alpha \in \sigma_{ap}(S) \setminus \{0\}$. Since $\lambda \sigma_{ap}(S) \subset \sigma_{ap}(S)$ by Theorem 3.11, we get that $\lambda^k \alpha \in \sigma_{ap}(S)$ for each nonnegative integer *k*. Since $\sigma_{ap}(T)$ is compact, we have $|\lambda| \leq 1$.

(ii) Assume that $0 \notin \sigma_{ap}(S)$ and there is $\alpha \in \sigma_{ap}(T) \setminus \{0\}$. Then Theorem 3.11 implies that $\alpha \in \lambda^k \sigma_{ap}(T)$ for each nonnegative integer *k*. Write $\alpha = \lambda^k \beta_k$ with $\{\beta_k\} \subset \sigma_{ap}(T)$. Since $\{\beta_k\}$ is bounded and $\alpha \neq 0$, we see that $|\lambda| \ge 1$.

(iii) Since $\sigma_{ap}(S) \subset \{z \in \mathbb{C} : |z| = 1\}$ and $|\lambda| \neq 1$, we have $\lambda \sigma_p(S) \not\subset \sigma_p(S)$. Accordingly, $0 \in \sigma_p(T)$ from Theorem 3.11. \Box

We now consider local spectral properties of λ -commuting operators. Let $H_0(T) = \{x \in \mathcal{H} : \lim_{n \to \infty} ||T^n x||_n^1 = 0\}$ be the *quasinilpotent part* of $T \in \mathcal{L}(\mathcal{H})$.

Proposition 3.15. Let $S, T \in \mathcal{L}(\mathcal{H})$. If $ST = \lambda TS$ for some $\lambda \in \mathbb{C}$, then the following statements hold: (i) $\sigma_S(Tx) \subset \lambda \sigma_S(x)$ and $\lambda \sigma_T(Sx) \subset \sigma_T(x)$ for all $x \in \mathcal{H}$. (ii) $TH_S(F) \subset H_S(\lambda F)$ for any subset F of \mathbb{C} . (iii) If $\lambda \neq 0$, then $SH_T(\lambda F) \subset H_T(F)$ for any subset F of \mathbb{C} . (iv) If $\lambda \neq 0$, then $H_0(S)$ is invariant for T. *Proof.* (i) Let $x \in \mathcal{H}$ be given. If $z_0 \in \rho_{\lambda S}(x)$, select a neighborhood D of z_0 and an analytic function $f: D \to \mathcal{H}$ such that $(\lambda S - z)f(z) \equiv x$ on D. Using the identity $ST = \lambda TS$, we get that $(S - z)Tf(z) = T(\lambda S - z)f(z) = Tx$ for all $z \in D$, and so $z_0 \in \rho_S(Tx)$. Thus $\rho_{\lambda S}(x) \subset \rho_S(Tx)$, or $\sigma_S(Tx) \subset \sigma_{\lambda S}(x)$.

If $z_0 \in \rho_T(x)$, choose an analytic function $f : D \to \mathcal{H}$ on a neighborhood D of z_0 such that $(T - z)f(z) \equiv x$ on D, implying that $(\lambda T - z)Sf(z) = S(T - z)f(z) = Sx$ for all $z \in D$. Then $z_0 \in \rho_{\lambda T}(Sx)$. Hence $\sigma_{\lambda T}(Sx) \subset \sigma_T(x)$. Applying [13, Theorem 3.3.8], we see that $\sigma_S(Tx) \subset \lambda \sigma_S(x)$ and $\lambda \sigma_T(Sx) \subset \sigma_T(x)$.

(ii) Let *F* be any subset of \mathbb{C} . If $x \in H_S(F)$, then $\sigma_S(Tx) \subset \lambda \sigma_S(x) \subset \lambda F$ by (i), which means that $Tx \in H_S(\lambda F)$. Accordingly, we have $TH_S(F) \subset H_S(\lambda F)$.

(iii) If $x \in H_T(\lambda F)$, then $\lambda \sigma_T(Sx) \subset \sigma_T(x) \subset \lambda F$ from (i), and so either $\lambda = 0$ or else $SH_T(\lambda F) \subset H_T(F)$.

(iv) Since $||S^nTx||^{\frac{1}{n}} = ||\lambda^nTS^nx||^{\frac{1}{n}} \le |\lambda|||T||^{\frac{1}{n}} ||S^nx||^{\frac{1}{n}}$ for $x \in \mathcal{H}$ and $\lambda \ne 0$, we observe that $x \in H_0(S)$ implies $Tx \in H_0(S)$. Thus $H_0(S)$ is invariant for T. \Box

Corollary 3.16. Suppose that $S, T \in \mathcal{L}(\mathcal{H})$ are λ -commuting where λ is a root of unity with order k. If λ is a root of unity with order k and S has Dunford's property (C), then $H_S(F)$ is a common invariant subspace of S and T^k , where F is any closed subset of \mathbb{C} .

Proof. If *S* has Dunford's property (*C*), then $H_S(F)$ is a hyperinvariant subspace for *S* (see [2], [6], or [13]). Since

$$T^k H_S(F) \subset T^{k-1} H_S(\lambda F) \subset \cdots \subset T H_S(\lambda^{k-1}F) \subset H_S(\lambda^k F) = H_S(F)$$

by Proposition 3.15. Hence $H_S(F)$ is invariant under T^k .

Remark. Assume $S \in \mathcal{L}(\mathcal{H})$ is hyponormal. It turned out in [17, Theorem 2.4] that if *S* is λ -commuting with $T \in \mathcal{L}(\mathcal{H})$ and $\sigma(ST)$ consists of *k* distinct nonzero elements, then $\lambda^k = 1$. Since *S* has Bishop's property (β) (see [15]), it has Dunford's property (*C*), and so $H_S(F)$ is a common invariant subspace of *S* and T^k by Corollary 3.16.

Let $H^2 = H^2(\mathbb{D})$ be the canonical Hardy space of the open unit disk \mathbb{D} , and let H^{∞} be the space of bounded functions in H^2 . For an analytic map φ from \mathbb{D} into itself and $u \in \mathbb{D}$, the *weighted composition* operator $W_{f,\varphi} : H^2 \to H^2$ is defined by $W_{u,\varphi}h = u \cdot (h \circ \varphi)$. In particular, we say that $C_{\varphi} := W_{1,\varphi}$ is a *composition operator*. We next prove that the operators λ -commuting with the unilateral shift U on H^2 given by (Uf)(z) = zf(z) are weighted composition operators.

Theorem 3.17. Let U be the unilateral shift on H^2 given by (Uf)(z) = zf(z), and $\lambda \in \partial \mathbb{D}$. Assume that $S \in \mathcal{L}(H^2)$. Then $SU = \lambda US$ if and only if $S = W_{u,\lambda z}$ for some $u \in H^{\infty}$.

Proof. We first note that $(W_{u,\lambda z}Uh)(z) = \lambda z u(z)h(\lambda z) = \lambda (UW_{u,\lambda z}h)(z)$ for all $h \in H^2$ and $z \in \mathbb{D}$, namely $W_{u,\lambda z}$ is λ -commuting with U.

If $S \in \mathcal{L}(H^2)$ satisfies $SU = \lambda US$, then $Sz^j = SU^j(1) = \lambda^j U^j S(1) = \lambda^j z^j S(1)$ for $j = 0, 1, 2, \cdots$. Hence, it is easy to see that if p is a polynomial, then $Sp = uC_{\lambda z}p$ where $u = S(1) \in H^2$. Let $f \in H^2$. Choosing a sequence $\{p_n\}$ of polynomials such that $p_n \to f$ in H^2 as $n \to \infty$, we observe that $p_n \to f$ uniformly on compact sets in \mathbb{D} ; indeed,

$$|p_n(\alpha) - f(\alpha)| = |\langle p_n - f, K_\alpha \rangle| \le ||p_n - f|| ||K_\alpha|| = \frac{||p_n - f||}{\sqrt{1 - |\alpha|^2}}$$

for $\alpha \in \mathbb{D}$, where $K_{\alpha}(z) = \frac{1}{1-\overline{\alpha}z}$ is the reproducing kernel of H^2 at the point α . So, $(Sp_n)(z) = u(z)p_n(\lambda z) \rightarrow u(z)f(\lambda z) = u(z)(C_{\lambda z}f)(z)$ pointwise on \mathbb{D} . Since $Sp_n \rightarrow Sf$ in H^2 , we obtain that $Sf = uC_{\lambda z}f$.

Finally, we want to show that $u \in H^{\infty}$. For a positive integer *n*, consider the set $E_n = \{\zeta \in \partial \mathbb{D} : |u(\zeta)| > n\}$, and define a function ω_n on $\partial \mathbb{D}$ by $\omega(\zeta) = \chi_n(\overline{\lambda}\zeta)$ where χ_n is the characteristic function on E_n . Then

$$||S\omega_n||^2 = \frac{1}{2\pi} \int_{\partial \mathbb{D}} |u(\zeta)|^2 |\chi_n(\zeta)|^2 dm(\zeta) \ge \frac{n^2}{2\pi} \int_{E_n} dm(\zeta) = n^2 m(E_n)$$

for all positive integers *n*. Since $C_{\lambda z}$ is unitary with $C^*_{\lambda z} = C_{\overline{\lambda} z}$, we obtain that $\|\omega_n\| = \|C_{\lambda z}\omega_n\| = \|\chi_n\| = m(E_n)$ for all positive integers *n*. Thus $||S\omega_n|| \ge n ||\omega_n||$ for all positive integers *n*. If $m(E_n) \ne 0$ for infinitely many *n*, then $||S|| \ge n$ for infinitely many *n*, which is a contradiction. Therefore, $m(E_n) = 0$ for all but finitely many *n*, i.e., $u \in H^{\infty}$. Hence $S = W_{u,\lambda z}$.

For a bounded sequence $\{\alpha_n\}_{n=0}^{\infty}$ in \mathbb{C} , a *weighted shift* on \mathcal{H} with weights $\{\alpha_n\}$ is an operator T such that $Te_n = \alpha_n e_{n+1}$ for $n \ge 0$, where $\{e_n\}_{n=0}^{\infty}$ denotes an orthonormal basis for \mathcal{H} . We next give some examples for λ -commuting operators.

Example 3.18. Consider the weighted shift S, so-called the Bergman shift, determined by the weights $\left\{\sqrt{\frac{n+1}{n+2}}\right\}_{n=0}^{\infty}$. Then S is hyponormal. Let T be any weighted shift with positive weights $\{\beta_n\}$, and let $\lambda \in \mathbb{C} \setminus \{0\}$. Then $ST = \lambda TS$ if and only if $\beta_{n+1} = \frac{n+2}{\lambda \sqrt{(n+1)(n+3)}} \beta_n$ for $n \ge 0$, that is, $\beta_n = \frac{1}{\lambda^n} \sqrt{\frac{2(n+1)}{n+2}} \beta_0$ for $n \ge 0$.

For a positive integer n > 1, define J_r and J_l on $\bigoplus_{l=1}^{n} \mathcal{H}$ by

	(0	0	•••	0	0)		(0	Ι	0	•••	0)	
	Ι	0	•••	0	0		0	0	Ι	•••	0	
$J_r =$	0	Ι		0	0	and $J_l =$:	;	:	·	: .	
-	:	÷	·	÷	÷		0	0	0		I	
	0	0	•••	Ι	0)		0	0	0	•••	0)	

Theorem 3.19. Let $T \in \mathcal{L}(\bigoplus_{1}^{n} \mathcal{H})$ and $\lambda \in \mathbb{C} \setminus \{0\}$. Then the following statements hold: (*i*) If $TJ_r = \lambda J_r T$, then T has Bishop's property (β) if and only if $P_1 TP_1$ has Bishop's property (β) where P_1 denotes the orthogonal projection of $\bigoplus_{1}^{n} \mathcal{H}$ onto $\mathcal{H} \oplus \{0\} \oplus \cdots \oplus \{0\}$.

(ii) If $TJ_1 = \lambda J_1 T$, then T has Bishop's property (β) if and only if $P_n TP_n$ has Bishop's property (β) where P_n denotes the orthogonal projection of $\bigoplus_{1}^{n} \mathcal{H}$ onto $\{0\} \oplus \cdots \oplus \{0\} \oplus \mathcal{H}$.

Proof. (i) Suppose that $TJ_r = \lambda J_r T$. Then we can express *T* as

$$T = \begin{pmatrix} T_1 & 0 & \cdots & \cdots & 0 & 0 \\ T_2 & \lambda T_1 & \ddots & \ddots & 0 & 0 \\ T_3 & \lambda T_2 & \lambda^2 T_1 & \ddots & \vdots & \vdots \\ \vdots & \vdots & \ddots & \ddots & \ddots & \vdots \\ T_{n-1} & \lambda T_{n-2} & \ddots & \ddots & \lambda^{n-2} T_1 & 0 \\ T_n & \lambda T_{n-1} & \cdots & \cdots & \lambda^{n-2} T_2 & \lambda^{n-1} T_1 \end{pmatrix}$$

where $\{T_j\}_{i=1}^n \subset \mathcal{L}(\mathcal{H})$. Hence, it suffices to show that *T* has Bishop's property (β) if and only if T_1 does. If T_1 has Bishop's property (β), take any sequence { f_k } of $\bigoplus_{1}^{n} \mathcal{H}$ -valued functions analytic on an open set *G* in \mathbb{C} such that $||(T-z)f_k(z)|| \to 0$ uniformly on compact sets in G as $k \to \infty$. Set $f_k(z) = \bigoplus_{j=1}^n f_{k,j}(z)$ where each $f_{k,j}: G \to \mathcal{H}$ is an analytic function. Then

$$\begin{cases} \lim_{k \to \infty} \|(T_1 - z)f_{k,1}(z)\| = 0\\ \lim_{k \to \infty} \|\sum_{j=1}^{\ell-1} \lambda^{j-1} T_{\ell-j+1} f_{k,j}(z) + (\lambda^{\ell-1} T_1 - z)f_{k,\ell}(z)\| = 0, \ 1 < \ell \le n, \end{cases}$$
(6)

uniformly on compact sets in *G*. Since T_1 has Bishop's property (β), we get that $\lim_{k\to\infty} ||f_{k,1}(z)|| = 0$ uniformly on compact sets in *G*. If $\lim_{k\to\infty} ||f_{k,j}(z)|| = 0$ uniformly on compact sets in *G* for all $j = 1, 2, \dots, \ell - 1$, then (6) implies that $\lim_{k\to\infty} ||(\lambda^{\ell-1}T_1 - z)f_{k,\ell}(z)|| = 0$ uniformly on compact sets in *G*. Since T_1 has Bishop's property (β), we obtain that $\lim_{k\to\infty} ||f_{k,\ell}(z)|| = 0$ uniformly on compact sets in *G*. By induction, $\{f_{k,j}\}$ converges to 0 uniformly on compact sets in *G* for each $j = 1, 2, \dots, n$. Therefore, *T* has Bishop's property (β).

Conversely, assume *T* has Bishop's property (β) and { $f_{k,1}$ } is a sequence of analytic functions on an open set *G* for which $\lim_{k\to\infty} ||(T_1 - z)f_{k,1}(z)|| = 0$ uniformly on compact sets in *G*. Setting the function $g_k(\zeta) := 0 \oplus \cdots \oplus 0 \oplus f_{k,1}(\lambda^{1-n}\zeta)$ analytic for $\zeta \in \lambda^{n-1}G$, we have $\lim_{k\to\infty} ||(T - \zeta)g_k(\zeta)|| = 0$ uniformly on compact sets in $\lambda^{n-1}G$. Hence $\lim_{k\to\infty} ||g_k(\zeta)|| = 0$ uniformly on compact sets in $\lambda^{n-1}G$, meaning that $\lim_{k\to\infty} ||f_{k,1}(z)|| = 0$ uniformly on compact sets in *G*. Thus T_1 has Bishop's property (β).

(ii) Since $TJ_l = \lambda J_l T$ if and only if

	$\begin{pmatrix} \lambda^{n-1}T_n \\ 0 \end{pmatrix}$	$\lambda^{n-2}T_{n-1}$ $\lambda^{n-2}T_n$		 	λT_2 λT_2	$\begin{pmatrix} T_1 \\ T_2 \end{pmatrix}$
T	:	:	·	·	:	:
1 =	0	0	·	·	λT_{n-1}	T_{n-2}
	0	0	•••	•••	λT_n	T_{n-1}
	0	0	•••	•••	0	T_n

where $\{T_j\}_{i=1}^n \subset \mathcal{L}(\mathcal{H})$, we derive (ii) in a similar fashion to the proof of (i). \Box

For an operator $T \in \mathcal{L}(\mathcal{H})$, a *T*-invariant subspace \mathcal{M} is said to be a *spectral maximal* space of *T* if \mathcal{M} contains any *T*-invariant subspace \mathcal{N} with $\sigma(T|_{\mathcal{N}}) \subset \sigma(T|_{\mathcal{M}})$.

Corollary 3.20. For $T \in \mathcal{L}(\bigoplus_{i=1}^{n} \mathcal{H})$, suppose that one of the following conditions holds:

(*i*) $TJ_r = \lambda J_r T$ for some $\lambda \in \mathbb{C} \setminus \{0\}$ and $P_1 TP_1$ has Bishop's property (β);

(*ii*) $TJ_l = \lambda J_l T$ for some $\lambda \in \mathbb{C} \setminus \{0\}$ and $P_n TP_n$ has Bishop's property (β)

where P_1 and P_n are the orthogonal projections given in Theorem 3.19. Then T has Dunford's property (C) and the single-valued extension property. Moreover, $H_T(F)$ is a spectral maximal space of T for any closed subset F of \mathbb{C} .

Proof. Since *T* has Bishop's property (β) due to Theorem 3.19, it has Dunford's property (*C*) and the single-valued extension property. Then *H*_{*T*}(*F*) is spectral maximal from [13, Proposition 1.2.20].

References

- [1] J. Agler, M. Stankus, m-isometric transformations of Hilbert space I, Integral Equations and Operator Theory 21 (1995) 383-429.
- [2] P. Aiena, Fredholm and local spectral theory with applications to multipliers, Kluwer Academic Pub., 2004.
- [3] S. Brown, Hyponormal operators with thick spectrum have invariant subspaces, Annals of Mathematics 125 (1987) 93–103.
- [4] S. Brown, Connections between an operator and a compact operator that yield hyperinvariant subspaces, Journal of Operator Theory 1 (1979) 117–121.
- [5] M. Cho, J. I. Lee, T. Yamazaki, On the operator equation AB = zBA, Scientiae Mathematicae Japonicae Online, e-2009, 49–55.
- [6] I. Colojoara, C. Foias, Theory of generalized spectral operators, Gordon and Breach, New York, 1968.
- [7] T. Furuta, Invitation to linear operators, Taylor and Francis, 2001.
- [8] P. R. Halmos, A Hilbert space problem book, (2nd edition), Springer-Verlag, New York-Berlin, 1982.
- [9] Alexander S. Holevo, Quantum Systems, Channels, Information : A Mathematical Introduction, Walter de Gruyter, 2012.
- [10] I. B. Jung, E. Ko, C. Pearcy, Aluthge transforms of operators, Integral Equations and Operator Theory 37 (2000) 449–456.
- [11] C. Kassel, Quantum Groups, Springer-Verlag, 1995.
- [12] I. H. Kim, On (p,k)-quasihyponormal operators, Mathematical Inequalities & Applications 7 (2004) 629-638.
- [13] K. Laursen, M. Neumann, An introduction to local spectral theory, Clarendon Press, Oxford, 2000.
- [14] V. Lomonosov, Invariant subspaces for operators commuting with compact operators, Funktsional. Anal. i Prilozhen 7 (1973) 55–56 (Russian).
- [15] M. Putinar, Hyponormal operators are subscalar, Journal of Operator Theory 12 (1984) 385-395.
- [16] K. Rasimi, A. Ibraimi, L. Gjoka, Notes on λ-commuting operators, International Journal of Pure and Applied Mathematics 91 (2014) 191–196.
- [17] J. Yang, H. Du, A note on commutativity up to a fator of bounded operators, Proceedings of the American Mathematical Society 132 (2004) 1713–1720.
- [18] L. Zhang, T. Ohwada, M. Cho, On λ -commutating operators, International Mathematical Forum 6 (2011) 1685–1690.